
Theory A3-1
English (Official)

Space Debris

Part A. Rotation (3.8 points)

A.1 (0.2 pt)
 
𝜔𝑥 =
 
𝜔𝑦 =
 

A.2 (0.4 pt)
 
𝐸𝑥 =
 
𝐸𝑦 =
 
𝐸(𝐿, 𝜃) =
 

A.3 (1.2 pt)
 
𝜓 =
 

A.4 (2.0 pt)
 
Ω(𝑡) =
 
𝛾𝑠(𝑡) =
 
𝜔𝑠(𝑡) =
 

Part B. Transient process (1.2 points).

B.1 (0.6 pt)
 
𝜃2 =
 

B.2 (0.6 pt)
 
𝜔2 =
 



Theory A3-2
English (Official)

Part C. Magnetic Field (5.0 points).

C.1 (1.0 pt)
 
𝜇𝑥 =
 
𝜇𝑦 =
 
𝜇𝑧 =
 

C.2 (0.3 pt)
 
𝑀𝑥 =
 
𝑀𝑦 =
 
𝑀𝑧 =
 

C.3 (0.4 pt)
 
𝐵𝐸𝑋 =
 
𝐵𝐸𝑌 =
 
𝐵𝐸𝑍 =
 

C.4 (1.3 pt)
 
𝑀𝑥(𝑢) =
 
𝑀𝑦(𝑢) =
 
𝑀𝑧(𝑢) =
 

C.5 (1.0 pt)
 
𝜔(𝑡) =
 

C.6 (1.0 pt)
 
𝑇 /𝑇𝑠 =
 


